Identitying and Balancing Chemical Equations Answer Key

1. C3Hs + 502 =2 3CO2 + 4H20
Combustion

2. 2H202 = 2H20 + O2
Decomposition

3. 4(NH4)3PO4 + 3Pb(NO3)4 = Pb3(PO4)4 +12 NHaNO3
Double Displacement or Double Replacement

4. 3ZnS + 2AIP = Zn3P2 + Al2S3
Double Displacement or Double Replacement

5. 3H1+ Nz > ZNH")
Svynthesis

6. AICI3 + 3Cs = 3CsCl + Al
Single Displacement or Single Replacement

7. Zn + Au(INO2)2 2 Zn(NOz2)2 + Au
Single Displacement or Single Replacement

8. CH3COOH + O2 2 CO2 + 2H20
Combustion



